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e 4N : int, float, double, String A2
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int[] wvalues = new 1nt[b];
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int|[ ] wvalues {50,77,-10,7};
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int[] values = {1, 2.5, 3, 3.5, 4};
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Example :

int[] values = {1, 2, 3, 1|4};
values[3] = 18; // {1, 2, B;-48)
values[0] = values[1l] + 3; // 15, 2,3, 18
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int[] values = new 1int[l2];

int size = values.length; — 12

int|[] values?2 = {1,2,3,4,5}

int size2 = valuesZ.length;
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int[] wvalues

for

i4++)

(int 1=0;

new 1nt[100];

i<values.length;
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B{E /A (for) - 2

int[] values = new 1nt[5];

for (int 1=0;i<values.length;i1++)
{

values[i] = 1i;

y = values[1]*values[1];

System.out.println(y) ;
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& (while)

int[] wvalues = new 1nt[5]; (3utput
int 1 = 0;

while (1 < values.length)

{

values[i] = 1i;

y = values[1] * values|[1i];
System.out.println(y);
i1 =1+ 1;
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int[] grades = {100,80,88,76,50};




float[] temp =

{20.5F,30F,22F,24.5F,26F,23F,29F};
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